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AP i A AR R ?
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®) Afwmafida t

© (A)T+A AR

@ (E)T+A famehida

X
O R ?

2 10
[_E_J;) ¥ Rz vaw § x WA 7 PR
(a) 180
(b)) 120
() 90

) 72

afg

(1+2x-x2)6=a0+alx+a2x2+...+a ‘123,
?hao—a1+aa—a3+a4—...+amf§ma;?{ﬁl

¥

(a) 32

(b) 64
(c) 2048
(d) 4096

aﬁazo,n+2)=ctzo,n-2)%,a‘rn%aﬁs
TR ¥ ?

(a) 18
(b) 25
(0 10
d 12

5.‘

7.

|8.

(2-A)

- 0 k 4
k % fnad WAl % fog, =g |-k O -5}
% k ~1
g ] ?
(a) o TH -
® ¥EEA
(©) ¥ 9R

(d) Fd

ST (1101101 + 1011011), T e TG #
for e fvan  wehan R 2

(a) (198

(b) (199

(€  (200)y,

@ (201)

L logs 1024 - logs 10 + 1 logs 3125 %1

w_R?
(@ 0
® 1
) 2
@ 3

a2 x = log, (ab), y = log, (be), 2 = logy (ca) ¥,
A Pttt # & Se-m @R 2

(a) =xyz=1

(b) x+y+z=1
(© (1+x)'1+(1+y)‘1+(1+z)'1=1

@ Q+02+Q+92+Q+ zy %=1
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L matrix A= ,:1__: ‘l-i-iJ wherei = V-1, S
then which one of the foliowing is correct ?
(a) Ais hermitian
(b) A is skew-hermitian
(©  (A)T + Ais hermitian
@)  (A)T + Ais skew-hermitian
2. The term independent of x in the binomial 6.
expansion of (x% - J;Jm is equal to
(a) 180
(b) 120
() 90
@ 72
3. IQa+2x-x®f=aj+ax+ ax% + ... +a,,x12, 7.
then what is 8g-8)+ay—ag+a, —.. + a9
equal to ?
(a) 32
(b) 64
(© 2048
(d) 4096
4. If C(20,n+2) = C(20, n — 2), then what is n 8
equal to ? l
(a) 18
b 25
(© 10
@ 12
KJU-S-TMS (3-A)

For how many values of k, is the matrix
0 k 4

-k 0 -5| singular?
-k k -1 :
(a) Only one
(b)  Only two
() Only four
(d) Infinite

The number (1101101 + 1011011)2 can be .
written in decimal systém as

(@) (198),,
()  (199),,
(c) (200,

@ (o1,

What is the value of

% log 1024 - log, 10 + % log, ‘3125 2
(a o0

(b) 1

() 2

d 3

If x =log (ab), y = log, (be), z = log, (ca),
then which of the following is correct ?

(a) xyz:l

b)) x+y+z=1

@ A+ v Q+yle@s zrl=1

@ Q+02+0+92+Q+272=1
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X+y y 2 ) a h g 2
9. “‘“m’*"'[zx x_y]'B=[-1]3m13. mﬁhA:{h b flaﬁtB:H’k,a’r
£

3 g c z]
C=[2]3"'EAB=C€"€'WA% AB fradh T R ?
Hrefirs & AE E R 2 ' ; :
Wax,+hy+gz']
(a) -10 @ 5
- (b -14
L CHR
© -24
@ -34 [ax + hy + gz
(b) hx + by + fz
10. TR 16 <x <45 3, @ Pefeiea § & FRw
s wd ¥ ? i : | e o
(a) (2x-3)(2x-9)>0 rax + hy + gz
® @2x-3)(2x-9<0 ; (c) hx + by + £z
) 2x-3)2x-920 Lgx+fy+a._
@ 2x-3)(2x-9)<0 (d lax+hy+gz hx+by+fz gx + fy + czl

11, AA R S=11,28, .18 1 SxSWTH
Hau R, xRy ¥ Rwifdd ® A log, x > log, ¥|14. mmnm%smﬁaﬁwa@ﬁm%@

PR R LA L |t e w2, fed = W W e
(a) %ad EgHA e o 7
(b) Faa TR (@) 2
(c) - Had MR _ ®b) 4
@ wam i dHms el o
: & @ | d 8
12. arf ‘ # & Bl wmi= -1 % _
o 2 B 15. qt= (5) sfeadt aei % sy fagadt &
1 W TR 2 - it den TR 2
@ 0 (a) 10
® -2 ® 15
o ki , © 20
) -4 | @ 25
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10.

11.

12,

X+ :
¥ y ,B=[2] L2
2x . x-y =1

C= BJ . If AB = C, then what is the value of

LetA{

the determinant of the matrix A ?

(8 -10

(b) -14

) -24

(d -34

K 15 <x < 45, then which one of the
following is correct ?

(@ (2x-3)(2x-9)>0

(b)
(0 (2x-3)(2x- 920
d)

(2x-3)(2x-9)<0

(2x-3)(2x-9)<0

Let S =1(1,2,83,..). A relation Ron S x S is
defined bsr xRy if log, x > log, y when a = %
Then the relation is

(a)
(b)

reflexive only

symmetric only

(c) trans_itive only

(d)  both symmetric and transitive

What is the value of the determinant

4 6

i 9l 8 wherei=,/-—1?

(5-

18.

14.

15.

A)

a h g x
LetA=h b f| andB = ¥ |, then what is
g f ¢ z
AB equal to ?
[-ax+hy+gz'
(a) y
[
[-ax+hy+gz'
(b) |hx+by+fz
o ]
['ax+hy+gz'
(c) hx + by + fz
Lgx+fy+czj

(d)  [ax +hy + gz hx+by +fz gx +fy + cz]

What is the number of ways in which the
letters of the word ‘ABLE’ can be arranged so
that the vowels occupy even places ?

(a) 2
(b) 4
(0 6
d 8

What is the maximum number of points of
intersection of 5 non-overlapping circles ?

(a) 10
(b) 15
(© 20
@ 25
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n(Z)ﬁﬁriéQﬁmm%ahﬁgo%m%l

aﬁYaﬁtzﬁmﬁﬁma,:s%agmﬁ
;A pMARRIR?

16.

(a) 18
(b) 19
¢ 21

(d 23

17. n(X)+n(Y)+n(Z)—-n(XnY)—n(Yﬂ Z)-

aXNZ)+nXNYN2)
F U R ?

(a) a+b+43

(b)

(©

(d

18. MW s ATAXAETYAE, A =

ﬂzﬁi,ﬁmp%ﬁhx%‘smﬁmﬁ
fNEET TR ?

a+b+63
a+b+96

a+b+ 106

(a)
(b)
()
(d)

p+b+60
p+b+40
p+a+60

p+a+40

KJU-S-TMS

(6-

STt 2 (02) VAT @ forg g :
ﬁmﬁ@amaﬁv@qaﬂrma}yﬁ%m
g : '

am dhf fy tanda

— - K, 5&f tan A = 0 30

1
K= -8l
5t

19. tan? A fora® sUR R ?

K+3

———

(a) 3K -1

(b) 3K _1

3K-3

(c)

K+3

- (d
e 3K +1

tan A % greate® wHl & fog, K fras o 4
72T A EwaT } 2

20.

(a)

(b)

(c)

(d)

A)
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Directions for the following three (03) items : Directions for the following two (02) items :
Consider the following Venn diagram, where X, Y |Read the following information and answer the two
and Z are three sets. Let the number of elements in | items that follow :
Z be denoted by n(Z) which is equal to 90.
X Y Lot B0 el bt et e o O o Koo o
ﬁ tan A . 3
% 19. Whatis tan? A equal to ?
j/ K+3
(a) K1
18. If the number of elements in Y and Z are in
the ratio 4 : 5, then what is the value of b ? ) K-3
(a) 18 ol
(b) 19
¢ 21 3K-3
(c) K_3
(d 23
17. What is the value of K+3
n(X) + n(Y) + n(Z) - n(X N V)~ n(Y N Z) - @D e
nXNZ)+nXNYNZ?
(a) a+b+43
(b) a+b+63
(©0 a+b+96 20. For real values of tan A, K cannot lie
between
d a+b+106
(a) 2 and 3
18. If the number of elements belonging to neither 3
X, nor Y, nor Z is equal to P, then what is the
number of elements in the complement of X ? w»m 1 and 2
g 2
(a) p+b+60
B p+b+40 | © %andS
(©) p+a+60
1
d p+a+40 (d) ;T—and7
- KJU-S-TMS (7-A)
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st 3 (02) gt % ferg REr:
ﬁwﬁﬁamﬁ#v@(’aﬂrmﬁyﬁ%m
CA(E L ‘

24.

ABCD U wuea (i) T8 v ? 75 AB
ok CD Gdiat ¥ 3R BC 3 W @« B | WM
g &% / ADB = 0, Z ABD = a, BC = p 3l
CD=q? |

Frfafaa w fem fifew :
1. AD sin 8 = AB sin a

2. BDsin0=ABsin (8 +a)
g § 3 A 7@
(a) a9 1

(b) A 2

(c) 1 3f 2 gt

@ JIAL,T7f|2

21.

26.

- ABfras sut 2

(p2 -+ qz) sin 0

k) pcos®+qsin®

(% - q*) cos ®

(b) :
pcosd +qsind

(p2 +q2)sin@
qcos O +psin®

(c)

(p2—q2) cos 0
qcosd+psin®

@

cos17° —8inl7’ 2 X o H TH
cos17° +8in17° )

If? tan

TR

230 G =

@ 0° 217.

(b)
(e)
d)

28°
38°

52°

KJU-S-TMS (8-A)

A 3R B €AE =pem W R ¥ B
coszB=3sin2Aafnssin2A=23inzB%|
A+2B)FAH TR ?

(a) %
(b) {-
(© %
@ %

gin 3% + cos 3x + 4sin® x—3sinx +

3cosx—4cosax

g WK R 7
. (a) O

b 1

() 2sin2x

(d) 4cosdx

y=2+mx%m%w(ﬂﬁ)mm
frg e AR R ?

(@ [0,1]
() [0,3]
@ 1,1
@ 1,3

8 cos 10° . cos 20°. cos 40° FAA T ?

(a) tan 10°
(b) cot10°
(c) cosec10°
(d) secl0?
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Directions for the tbuowmg"two (02) items : 24. A and B are positive acute angles such that
Read the following information and answer the two cos 2B = 3 sin? A and 3 sin 2A = 2 sin B,
items that follow : What is the value of (A + 2B) ?
ABCD is a trapezium such that AB and CD are y
parallel and BC is perpendicular to them. Let W e
Z4ADB=6, £ABD =, BC=pand CD = q.
%hi £
21. Consider the following : 4
1. ADsin0=ABsgina , : o X
‘ . 3
2. BDsin0=ABsin (0 + a)
Which of the above is/are correct ? @ %
(a) 1lonmly I
25. Whatis
2 onl
L sin 3x + cos 3x+ 4 sind x — S sin x +
() Bothland?2 . 3cosx—4cosdx
(d) Neither 1 nor 2 equal to ?
22. What is AB equal to ? @
PR m 1
A (p” +q“)sin 6
pcosb+qsind (¢) 2sin2x
d 4
(b) (pz_qg)me ( ) cos 4x
:] in 0 .
ﬁ S e 26. The value of ordinate of the graph of
: (p2+q2)sin0 ¥Y=2 +cosx lies in the interval
c) - - :
gcos 6 + pein 6 (@ [0, 1]
@ 22-a% cos0 () [0,3]
qcos0+psind RO
' * _sinl? @ 1,8
23. Iftan 9 = cos 17" —sin 17 , then what is the
co817’ +8in17° )
value of 6 7 27. What is the value of
: 8¢0s 10°. cos 20°. cos 40°?
(a o0
(a) tan 10°
(b) 28°
(b} cot 10°
(c) 38°
(c) cosec 10°
(d) 52°
(d) sec10°
KJU-S-TMS (9-A)
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- 28, cos48°—00512°7ﬂm'¥ﬂ‘%? m?ﬂ?(w)rﬁ*mﬁﬁf:
e bl \ et arert % afeg sk s diT S F
4 IR ST : -
(b) 1-46 " 7m iR e
4
asin2x+bm82x=c;bsin2y+aooszy=d
© J§2+1 ‘ 3R ptanx=qtany 2|
e 1-45 . : 31. tan?x frEdaTe } ?
8
(a) .
29. Freffaa sl T e HifE ey
L af ABC wH wwew fyw §, S A WY ®) a—;
gmm t MR sn B =3 R D g
cosecC=32 | © c_:
c..-
2 ﬂﬁbcosB=ccoaCﬁ3ﬂ'{!|ﬁﬁgﬁ
ABC awa figst 78 §, 9 ABC 3T o\ Qe
; & wmfdarg fve g <R | s
mﬁmmﬁﬁ%ﬂmﬁaﬁ%@? o, 9-2 farmd v R ?
(a) %ad 1 ¢ b-d
b) Fad 2 : (a) sin’y
(@ 13K 2a=ﬁ : i o
@ JAM1LTARN2
‘ (c) tan? y
g0, Prifrfad Forl T farem PRI : N @ cot?y
L af fdt B ABCH, A=2B3R b=c p?
g,aqg@awﬁaqml 33. ?ﬁ;@:m%?
2. @Tﬁﬁﬂaﬂcqﬁ%mﬁA=40°, o b-c)b-d)
B = 65° 3R % = gin 40° cosec 15° & | @a-d@-o
i s (a—-d)(c—a)
I el 3 @ P Tl R (b—c)(d-b)
(@ ¥ 1 © (d-a)(c—a)
() ¥ 2 ? ®-0Wd-b
© 13 23F o (b-c)(b-d)
@ JANLAR2 ' c-a)@-d
KJU-S-TMS (10-A)
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28. What is the value of cos 48° — cos 12° ? Directions for the following three (03) items :

\/_ Read the following information and answer the
.= 1 three items that follow :

(a) 1

Let asin®x+bcos?x=c; bsin?y +acos?y=d

(b) l_TJE and ptanx=gqtany.
By 31. Whatis tan®x equal to ?
(e
2 il
(a) : - :
@ 1=¥6
8 b
, (b) : ]:
29. Consider the following statements :
1. I ABC is a right-angled triangle, 7 Al :
. n
right-angled at A and if sin B = % then
cosec C = 3. @ &3 :
c -
2. IfbcosB=ccosCandifthetriangle
ABC is not right-angled, then ABC must \
1.Which of the above statements is/are correct ? i
(a) 1only 3  sinty
(b) 2only (®) cos?y
(c) Bothland?2 ®) | tandy
(d) Neither 1 nor 2
(d) cot?y

80. Consider the following statements :

2
1. Ifin a triangle ABC, A = 2B and b = ¢, |38. Whatisp—zequalho?
then it must be an obtuse-angled triangle. q

2. ThereexistsnotriangleABCwithA=40°, (b-c)(b-d)

(a)

B=65°and 2 = gin 40° cosec 15°. (a-d)(a-c)
c

ich of the abo ts ia ? ®  a-de-a)
Which of the ve statemen are correct ? T

}) 1lonl
i = © (d-a)(c—a)
(b) 2only : (b-c)(d-b)
(c) Bothland?2 e B tia
(d) Neither 1 nor 2 (c—-a)(a-d)

KJU-S-TMS (11-A)
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st i (03) S & g Rdwr: st i (03) T & forg R :
ﬁnﬁf&ama}q@qwmwwafﬁqﬁ@amﬁmammwwa

I 9 : I e : :
o AR e ¢ =sin® 0+ cos” O R 1. 7 e R o =p=16°R |
34 :3-:5 Ry T R ? i 37. sina+cosp MAATNR?
R |
1
(a) —
(a) h V2
t3 .
; ® —
i 4= 842
ts
@ = e
tq
¢ (d) —J—g-
@ X V2
ty
38. <in To — cos TP 1 WH 1 & 7
(a) A
35. t2-t, ReEdh s ¥ ? 2
(a) cos 20 1
® —=
(b) sin 20 28
. J3
(¢) 2co80 € —=
5 ads
d 2sin0 J,_
3
@ =
35
36. tIOWWW%,ﬁETB=45°%? 39. ain(u+1°)+cos(|3+i°) foraes U R ?
1
(a) (a) /3 cosl°+sinl°
1
by =
4 b V3cosl’- % gin 1°
1
) —
16 () —%(Jﬁcoslgsin_v)
1
@ —
32 d %(Jﬁwsl"-«-sinl")
KJU-S-TMS (12-A)
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Directiomﬁ)rthefouowingtbm(os)uem: Directionsforthefollowingthme(os)item:“
Read the following information and answer the|Read the following information and answer the
three items that follow : three items that follow :
Let t_ =sin"0 + cos® 0. Leta=p = 15°.
. 87. What is the value of sin a + cos B ?
84. Whatis 3=% oqua) 02 ‘ i
t5 = t7 (a) iy
» v2
o @ -1
3 oo
: 2/2
t3
b)) =
b (0 N8
2/2
ts
oy @ B
V2
@ {'L .
d : 38. What is the value of sin 7a — cos 78 ?
1
(a) —
85. Whatis t?—t, equal to? V2
1
: b)) —
(a) cos26 272
in 20
(b) sin % 5
(¢) 2cos0 22
(d 2sin@ V3
d —=
J2
36. What is the value °ft1q where 6 = 45° 7 89. Whatis sin (o + 1°) + cos (B + 1°)‘ equal to ?
(a) 1 (@) V3 cos1° +sin 1°
1 1
(b) 1 (b) V3cos1°-— 3 sin 1°
1 1 {
e ©  —=(/Beos1°-sin 1%
) A 1
32 @ 2 (Y8cos1°+sin1°)
KJU-S-TMS (13-A)
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40. 3? sinx+siny=cosy—cosXx #, et

41.

KJU-S-TMS

' b<y<;<%z,am(x?]ﬁm:m

&4

(ay O
1
(b) 3

@ 1

d 2

kR A, 3 x 5 AR (3T =1 Tk A T 3N
B, 5 x 3 PR ¥ TH g ¥, T AB 3 BA
& wfeat s @ gl 2

@ 8x3 3N 3x3

b 3x5 AN 5x3

(c) 8x3 AR 5x5

@ 5x3 I 3x5

“ﬁpz,qzﬁ'{rz(ﬁlﬁp,q,_r>0§)[[“ﬁ'\‘ﬂﬁ'eﬁ
Gp) # &, @ fFefafea § & FRwA wh
Mo 4

1. p,q3M i A GP)H R |

2. tnp,znqamznrmaﬁ(w)ﬁil
9 Ry T T T W EE IR
(@) %991

(b) HaA 2

© 13 23F

@ Jd@Té2

. aff d@Em

43. ﬂﬁcotaaﬂ'l eotﬂmxz—3x+2=0a?

Wg,ﬁcot(a+ﬂ)mmi?
(a) %

1
(b) 3

¢ 2

d 3

. a3 Bmﬁmmﬂ%wiﬁ’fﬁéﬁ

a+ B =0+ p2 3N of = a2p? ! HEE H ¥ |
¥ Rera w6 v =R ?

@ 0

b) 2

e 3

d 4

1-if3 oot ;o yT1 8, W
1+iV3

BT T & ?

(a) 240°

(b) 210°

(© 120°

(d 60°

(14-A)
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40. If sinx +sin y = cos y — cos x, where - |48- I cot o and cot B are the roots of the equatian

O<y<x< E,then.whatistan (x_—z) equal x2_3x+2 = 0, then whatiscot(a+’p) equal
2 2 to? !
to? :
1
(a) 0 : ! (a) ‘2‘
o
®) = e L
2 ) 3
© 1 © 2
@ 2 | @ 3

41. If A is a matrix of order 3 x 5 and B is a| ] ‘ ; Y
matrix of order 5 x 3, then the order of AB and (44 The roots o and'§ of a quadratic equation,
BA will respectively be satisfy the relations o + p = o + 2 and

op = a’p%. What is the number of such

(8 3x3 and 3x3
) quadratic equations ?

. (b) 8x5 and 5x3

(@) 0
() 3x3 and 5x5
(b) 2
(d 5x8 and 3x5
: . () 3
: ; d 4
42. If p? q® and r2 (where p, g, r > 0) are in GP,
then which of the following is/are correct ?
1.  p,qandrareinGP. 45. What is the argument of the complex number
2. Inp,lnqandinrarein AP, l_i‘/‘g,whemi=,j_1?
1+iy3
Select the correct answer using the code given
below : (a) 240°
(S}t ouly () 210°
(b) 2only
(c) 120°
(c) Both1land2
(d 60°

(d) Neither 1 nor 2

KJU-S-TMS (15-A)
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46, wfoy gom 280is00 o IR W

417.

KJU-S-TMS

cos®—isin o
T TR ?

1
(a) —2"
b 1

3
() 5

@ 2

{, 2, 3, 4) % 3 IvegeEl v REw Hifvw |
W SfE SrEgeEl § ¥ feey W= (3) %
Aftragea & 2

(a b

(a) D<0O
by D=0
¢ D=0

d D=z0

(16-A)

49. 5 (1 + x)° 1 x 6 FANA (aazhgi)wﬁﬁ

mﬁmgm%a’tmmﬁ sifm dfw
TRt S AR w1 ¥ 2 '

(a) 256

(b) 512

() 1024

(d) 2048

. i 3 T T goEia g % T A

frefirfea w frem fif -

1. A(adjA)=(adjAA

2. ladjA| =|A|

i w7 & WA Tl R 2
(a) Haa 1

() HIE 2

(© 13 23F

(@ Fd@1,ad2

- Qﬁ(x—2a)(x—2b)+®—2c)(y—2d)=03?f

HFgaAATR?

(a) (2a,2c) .

- (b) -(2b,2d)

(©) (a.+b,.c+d) _
d (a-b,c—-d)

AR DR T S RS

u ol & wE 8x + 2y = 5 ], @ W

 fyepot 1 Tt R 2

(a) 3x-—2y=5
(b) 2x-3y=1
(© 2x—3y=5
d 2x+3y=-1
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46. ' What is the modulus of the complex number | 49,

M,whemi: J-17
co80—isin@

1
(a) E
b 1
(c) g 50.
d 2

47. Consider the proper subsets of {1, 2, 3, 4}. How
many of these proper subsets are superset of
the set (3) ?

(a) 5
() 6
(C) 7 . 51.

d 8

48. Let p, q and r be three distinct positive real
PV T

numbers. f D = (q r P |, then which

r p gq 52.
one of the folléwing is eorrect ?

(a) D<0
(b) D<0

(c) D>0

d D=zo0

KJU-S-TMS (17-A)

What is the sum of the last five coefficients in
the expansion of (1 + x)° when it is expanded
in ascending powers of x ? .

(a) 256

b)) 512

(© 1024

(d) 2048

Consider the following in respect of a
non-singular matrix of order3: :

1. A(adjA)=(adjA) A

2. |adjA| = |Af

Which of the above statements is/are correct ?
(a) 1only :
(b) 2only

(¢) Both1land?2

(d)  Neither 1 nor 2

The center of the circle ‘
(x—2a) (x-2b) + ¥-20)(y-2d)=0 is

(a) (2a, 2¢)

) (2b, 2d)

(€ (a+b,c+d)

d (a-b,c-d)

The point (1, -1) is one of the vertices of a

square. If 3x + 2y = 5 is the equzition of one
diagonal of the square, then what is the

equation of the other diagonal ?
(a) 8x-2y=5
(b) 2x-3y=1

() 2x-3y=5 .
d 2x+8y=-1
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53, WA i & Pxy feA e

25x2 + 16y2 = 400 W 9§ fig & 1 IR QO, 3

57. WA iR 75 ABC @ By ¥ | IR D, 5

R E(5, 9) 509 Wit AB 3 AC % wea-fig

3R RO, -9 A fig & & PQ + PR) e £, & yon BC Y g TR ?
te . (a) 8

(0 1 (b) 10

(b 10 © 12

G ik @ 14

@ 6

58. R fig (0,k) @ ¥&T 8x— 4y -5 = 0 W& T

B4, 3 W@l x+2=0 y+2=0 3R Eiawm(s,n%,a\k?ﬂmwz?

Ix 4y 4 2= 08 o B %1 9 -1, -D R,

& kI AH TR ? (@ 3
Sy ®» 4
b -2 (©. b
W @ 6
@ 2

59. w%mﬁ%ﬁawmmwi,ﬁm

55, TEER y? = x #, ¥ ¥ TR AR M x-3 yavrard 2 — V3 32+ V3 F2
£ o 0w A A g S F TR TR ? (@) 105°

(a) sinB. sec? 0 (b) 120°

(b) cos @ .cosec’® (¢) 135°
d 150°

(c) cotO. sec? 0

(d) 2 tan 0 . cosec? 0
60. IR 3x-— 4y —5=03K 3x — 4y + 15 = 0 foeft

6w e % N
so. fra Shew & s, fig (@ b), @ & 3 b e %

At =t 1 SEh TR ?
(a—c,b—d) Gt &2
(@ 4 8
(a) ab=cd 15
b) 9
.y b) TS
o s g A () 1671 1%
(d abe=d @ 25t gd
KJU-S-TMS (18-A)
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83. Let P(x, y) be any point on the ellipse | 57.
25x% + 16y? = 400. If Q(0, 8) and R(0, - 3) are
two points, then what is (PQ + PR) equal to ?
(a) 12
() 10
© 8
d 6
64. If the circumcentre of the triangle formed by
thelinesx+2=0,y+2=0andkx+y+2=0 58.
is (<1, -1), then what is the value of k ?
(a -1
b -2
@ 1
a 2
55. In the parabola, y® = x, what is the length of &
the chord passing through the vertex and| "
inclined to the x-axis at an angle 6 ?
(a) sin6.sec?d
(b) cos 0. cosec?o
(¢) cot®.sec?o
(d) 2tan 6. cosecZg
60.
56. Under which condition, are the points (a, b),
(¢, d) and (a — ¢, b — d) collinear ?
(a) ab=ecd
(b) ac=hbd
. () ad=be
(d) abc=d
KJU-S-TMS (19-A)

 Let ABC be a triangle. If D(2, 5) and E(5, 9)

are the mid-points of the sides AB and AC
respectively, then what is the length of the.
side BC ?

(a) 8

(b) 10
© 12
@ 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x -4y -5=0is (3, 1),
then what is the value of k ?

(a) 3
(b) 4
) 5 |
d 6

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + V3 ?

(a) 105°
(b)  120°
() 1356°
(d) 150°

If 3-4y-5=0 and 3x -4y +15=0 are

~ the equations of a pair of opposite sides of a

square, then what is the area of the square ?
(a)
(b)
(@
(d)

4 square units
9 square units
16 square units

25 square units
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61. mﬁ@t%mﬁaﬁﬁw%ﬁaﬁtw.
T O, -2, 8 w 2 ok S wASw
6x—3y+2z—4=0ﬁ¥ﬂ¥fw%?

(a) 150
® 2%
(©) 3%
@ 4758

62. fig 2 3 oA x@ "I":z;_O:%gﬁ 66.
wa g w2 ,
(a) G'Q#Ii
(b) 578
(e) 3R
@ 278

63. R freht Y ¥ fomp-ogT
<a+b,b+c,c+a>§,?ﬁ3‘8’=ﬁf&iﬁ?&ﬁﬂl
¥ it 1 TR TR ? :
(a) (a.+b+c)2
b 2@+b+c) ;

617.

¢ 3

@ 1

64. Rgwum (wfd/faw) H féwis anaw fRad
Iq@st i ffa #a & 2

(@ 2
b 4
) 8
@ 16

KJU-S-TMS (20-A)

mmmaﬁmw%ﬁ;mm@
dﬁ@ssmﬁz(ﬁé)m%aﬁtg—m%
| R ?

(a) x+y=5b
b) z=5H

0 z=0

d x+y+z=5

aR 4, xya@ i TH wow (grd) WRa @A
T <% % WY 30° H H & &, @
A fora® aUM R ? :

%

2

)

(a)

[T

&

|
[T

(b)

[ ]

o
2

(e)

>
>

i-+3]

d
(d) 2

am iR B A Rpeam (nft/ae) 3§ T
2 f5 |OA| =128, w&l owm-fig ? 1 AR

OA x-318 3N y-AH % WY o 45° 3 60°

1 F01 T 8, @ OA forudh s R 2

@ 6i+6jt2k

® 61 +642] t 6k

(9] 6\/5? +6§ it Gﬁ

@ 3v25+3)tek
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61.

KJU-S-TMS

What is the length of the diameter of the
sphere whose centre is at (1, - 2, 3) and which
touches the plane 6x — 3y + 2z — 4= ¢ 2

(a) 1 unit
(b) 2 units
(c)

(d)

3 units

4 units

What is the perpendicular distance
from the point (2, 3, 4) to the line
x-O%y—Ozz—09

1 0 08 -

(a) 6 units
(b)
(c)

(d)

5 units
. 3 units
2 units
If a line has direction ratios

<a+b, b+, ¢ + a >, then what is the sum of |
the squares of its direction cosines ?

(@) (a+b+¢)?
(b)

(¢ 3

2(a+b+c)

d 1

Into how many compartments do the
coordinate planes divide the space ?

(a) 2
b 4
() 8

(d 16

87.

(21‘—A)

What is the equation of the plane which cuts
an intercept 5 units on the z-axis and’ is
parallel to xy-plane ?

(@) x+y=5
b) z=5

() z=0

d x+y+z=5

If 4 is a unit vector in the xy-plane making an
angle 30° with the positive x-axis, then what
is a equal to ?

A A
J§i+j

(a) 2

A
3i-j
2

(b)

s 3

)
.y

+

(c) 2

A
i-J8j
2

>

(d)

LetAbeapointinspaceauchthat
| OA | = 12, where O is the origin. If G4 is
inclined at angles 45° and 60° with x-axis and
y-axis respectively, then what is 6:& equal

to ?

(a) 6'i\+631:s/§£

b 6i+6v2; + 6k
€ 6427 +6? + Gﬁ

@ 3v2i+3]+ 6k
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68. T WAIR Wg H & whEe (em) g |72, o 79 6 B 07 cmfsec M XA TG AR |
A A A
2} —4) o5k o §-2f -3k ¥ WS R R ST R AR ?
At @ Pefe 58 T@ @kE F kW
(a) 4-4cm/sec
(ﬁﬁ)gumﬂq&mww%?
(b) 8-4cm/sec
(a) 21
(¢) 8-8cm/sec
Md 25
‘ (d) 154 cm/sec
() 31
lim x*-1 m x3-k®
@ 36 8. SR L R e g et
6. d® |TxBIP+ 2.8 =14 W k20%, MEkF AT TR ?
|2 | =4 & | T | foras sTet & 7 apas
3
(a) 3
(b) %
b 4 k
(c) 6 (C) -3-
@ 8 O\
2
. 2§
g ‘f ST T . .\ S kiil:-“[u(ﬂl)]dx%s
2 =2i -3j +k, b =1 +2j _3k 3K PR dx = dx
o (AT @ A
2=} +pk onacf &, A pF AR TR ? , ( ™ ) g
(@ 131
(a) 1
) 233
b -1 .
© 234
€ 5
@ 134
d -5
g1, LB x+x?+x° -3 oy g 2 2 75. tho————-———m.nxhgz(l_x)ﬁm%m%?
x—1 x-1 X
(a) -1
(a) 1
(b)
® 2 RS
(c) -—e
¢ 3
1
@ 6 e
KJU-S-TMS (22-A)

@ Teachingninja.in



68,

69.
| 3 | =4, then whatis | b | equal to ?
(a) 3
b) 4
) 6
d 8
70. Ifthevectors a =21 -8} 4 £, .
T:: ?+23—3ﬁand?= }+pﬂare
coplanar, then what is the value of p?
(a) 1
(b) -1
© 5
d -5
71 Whatis ™ X+x?+x®-3 oqual to ?
x—>1 S| 785.
(a) 1
b) 2
(© 3
@ 6
KJU-S-TMS (23-A)

‘I‘wo acbaoent sndes of a parallelogram are
21—43 +5k and 1—23 —3k What is the

magnitude of dot product of vectors which
represent its diagonals ?

(a) 21

(b) 25
© 31

(d 36

I |axb |2+]2.5 |®= 144 and

72. Theradiusofacirclemmcreamhgattherate

of 0-7 em/sec. Whatmtherateofmcreaaaoflts
circumference ? -

(a)
(b)
(c)

4-4 cm/sec
8-4 cm/sec
8-8 cm/sec

(d) 15-4 cm/sec

_ lkim x3 _ k3 h
T x—ok F:—k?’ i A

lim x%*-1
x—>1 x-1

- k# 0, then what is the value of k 7

(a)

(b)

(c)

® Wl e @]

@)

The order and degree of the differential
2

23
equation k%:j[l+(§§)] dx are

respectively

(8) land1
(b) 2and3
(c) 2and4
(d 1land4
. lim sinxlog(l-x)
What is x—)O__xT__ equal to ?
(a) -1
(b) Zero

e) -e _

d -=
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6. R fx) = 3x2 — 5x + p 3N {0) I 1) Frelw e
79. I(tan3x+tanx)dx FAA TR ?

fug & §, @ Priaen o @ e wd R 2
(a) -2<p<0
1
(a) Z
(b) -2<p<2
© 0<p<?2 ' (b) %
(d 3<p<b © 1
@ 2

7. uﬁew=c+4e¢,aﬁfcqmﬁ'ﬁswiam

, , o do P :
@, 0% T %o &, A @ do T R ? 80, A RE s y=32+2 ¥ af x, 108

(a) 6do Thafia B 101 @ S B, @ y #F F TR
(b -8de NN
(¢ 40d9 - (a) 471
(d -46de (b) 523
(¢) 6-03

78. 3R px) = (4e)* 2,4 j p(x) dx R TUR (d 801

&
; 81. ﬁﬁx)ssinx,ﬁlﬁxen,aﬁxzﬂﬂﬁ'ﬂﬂ
1+2In2 BT R, @ x = 0T B H AA
p(x)
®  Sai2in2 @) 0¥ R
) 12 SR
© 2px) . :
1+ind -
; (¢) 2 B aRe
p(x) :
(e e @ Fruffa T e s @
+in2 } i
KJU-S-TMS : (24-A)
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76. If f(x) = 3x2 - 5x + p and f(0) and K1) are
opposite in sign, then which of the following is | 79.
correct ?

(@) -2<p<0
(b) -2<p<2
) O<p<2
d 3<p<5b

77. If e% =c + 46p, where c is an arbitrary
constant and ¢ is a function of 6, then what is
© d6 equal to ?

80.
(a) ode
(b) -6de
(¢) 46de
d) -46de¢
78. If p(x) = (4e)2%, then what is I p(x)dx equal
to?
p(x)
A @ Jighkat® 81.
p(x)
® Saaieme S
2p(x)
(c) 1+b”'lﬂ:
p(x)
4y B
(d) 1+ln2+c
KJU-S-TMS (25-A)

x/4
Whatisthevdlueof I (tan® x + tan x) dx ?
0

(a) L

1
_(b) 2
€ 1
d 2

Let y = 3x2 + 2. If x changes from 10 to 10-1,
then what is the total change in y ?

(a) 471
(b) 523
c) 603
d 801
If fix)= smx’ where xR, isto be

continuous at x = 0, then the value of the
function atx =0

(a) should be 0
(b)
(c)

d

should be 1
should be 2

cannot be determined
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82, awe WHIH dy = (1 + y2) dx 1 &1 & 85. o y2 = 2x 3N WA W@ y = x % ¥ TReg &

(a) y=tanx+c T RAHA TR ?
() y=tan(x+0 @ 3
ta.n'l — 4
(c) (y+c)=x 3
(@ tan‘l(y+c)=2x g
. () =
3
@ 2
83. J.(e1°3‘+sinx)cosxdxmm%?
86. IR Ax)=2x-x2 &, A fix+2)+ Kz - 2)
: gl x oM, 39 foafe # 99 x = 0 &, 1B ?
(a) sinx+xcosx+ 2 +c
(a) -8
. 2
(b) !3i.1:tx-xcosx-i-Bmzx +c b -4
- c) 8
(c) :lminxfcos:r.arsmx : .
@ 4
2
(dd xsinx-xcosx+ m2x+c
87. aﬁxﬂ’yﬂ:am‘fns‘r,ﬁr%ﬁmﬁ;m%?
84, TE f(x) = cos ! (x — 2) 1 SR (W) R ? (a) %;Y
(a [-1,1] -
_my
(b) e
®m [1,3]
@ 0,5 (© %
@ 2,1
C) -%
KJU-S-TMS (26-A)
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82.  The solution of the differential equation | 85.

dy =(1+y?) dxis

(a) y=tanx+c

(b) y=tan(x+c)

() tanl(y+e)=x

(d tanl(y+c)=2x
83. Whatis J.(e1°g‘+sinx)cosxdx equal to ?

. 2 86.
(a) sinx+xcosx+ o2 X +c
sin? x
(b) sinx-xcosx+ +c
: sin? x
(¢) xsinx+cosx+ +c
sin? x
(d) Xsinx-xcosx+ +c
87.

84. What is the domain of the function

fix)=cosl(x-2)?

(a) [-1,1)

(b) [1,3]

(© [0,5] A

d [-2,1)
KJU-S-TMS (27 -A)

What is the area of the region enclosed
between the curve ¥2=2x and the straight
liney=x7?

: 1
(a) E
b 1
2
{(c) 3
d- 2

If fix) = 2x — x?, then what is the value of
fix +2) +fiz - 2) whenx = 0 ?

(a) -8
(b) -4
() 8
d 4

If x™y™ = a™*2 then what is g—i— equal to ?

(-2
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88. dx  fpgd sue # 2
x(x® +1)
(a) l ( x” ]+c
n x"+1
n
® zn-[‘le]ﬂ
xn
(c) ln[xn+1)+c
(@ lln{‘n”]n
n x_n
89. |x-1| WU AA TR, & xe RR?
(@ O
b 1
c) 2
@ -1
2
90. k% 7% WH F & Py Ry S 8-k o
a X
% & ONH UGN, UF I Hod B g6l
27
(a O
m 1
0 2
(d) -2

KJU-S-TMS

91.

93.

(28-A)

fx) = o |1 ¥ Ry, Prefafaa Fot w feR
m: ;

1.  x=0W %eH &aa & |

2.  x=0W %eH JAIheHIE B |

I HyEl f § PAA/A T ¥R 2

(a) %ad 1

(b) a2

1 3t 294t ’
a@ T8 2

()

d

Sin'x . cos x %! ATHaN WH FAT 8 ?

(a 2
b 1

1
(c) 5
@ 2v2

lim 3*+3 %<2
o e fra® s R 7

(a) O

b -1

_(c) 1

@ dm @ e T R (Fw Fawm
T ?)
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88. Whatis

89. What is the minimum value of |x - 1|, where |92,
xeR?
(@) 0
® 1
) 2
d -1
90. What is the value of k such that integration of
% AT
= +: S withmspecttox,maybeaga_
rational function ?
(a o
(b)) 1
© 2
@. -2
KJU-S-TMS (29-A)

n
(@ lln[-l[—+—1]+c

—_ ual to ?
x(x2 +1) i

WL g
(a) lln( x ]-s-c
n x2+1

n
(b) ln(x +1]+c

n
© In( = J-!—c
x +1

dx 21.

Consider the following statements for
fix) = eIl ; '
1. The function is continuous at x = 0:

2.  The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Bothland2

(d) Neither 1 nor2

What is the maximum value of sinx.cosx ?

(a) 2
) 1

1
(C) E
d 2v2

lim 38*+8*-2

What is ey = equal to ?
(a) o0
b -1

@ 1

(d) Limit does not exist
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94. cotlx ¥ wuy i (% WNW) tanlx F 97. Frafifem wut w fem Hfv :

FAFAT TR ?

@ -1
b 1
1
(c)
i x2 +1
(@ g
x2 +1

95. HEH ulx,y)=c, I AT GHHO
x(dx—dy)+.y(dy-dx)=oa?rﬁgszm1%,
AT R ?

(@ x2+y’=xy+c
® =x2+y’=2xy+c
() x2-y2=xy+c

‘@ xX-y?=2xy+c

96. 3 cos (A+—;—] 1 e T 1}, 9E Ae R
1 &

99.
(a) -3
b -1
(e 0
@ 3
KJU-S-TMS (30-A)

980

1. B fx) = In x 3R (0, ) ¥ TA R |
2. mﬁx>=tmm(-g,g)ﬁ
T ¥ |

g st 8 @ Ba/E T Y
(a) *ad 1

(b) ad 2

© 13K 23H

(d T@N1LTE2

e xila;masmﬁ,ﬁnﬁﬁaﬁa

AR

(@ o xeR|x =1 & IR wE &)
Al gEAl # ageed ¢ |

b) S xeR|x+1%, WH [yeR|y=0 8
3R T y-31% W (0, - 1) W WSy e
21

© oniF awafE derel W agEa §
WE T 9= (0} R |

@ O (xeR|x=1 7 N TH y-A8 W
forgadt o w= ? |
dy ) _
Wmln(a) —x W TR

(a) y=e€e*+c
(b) y=e*+c
(¢) y=ilnx+c

@ y=2Inx+c
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84. What is the derivative of tan~! x with respect 7.

to cotx?
(a8 -1
b 1
1
(c)
x2 +1
) X '
x? +1

95. The function u(x, y) = ¢ which satisfies the |98
differential equation
x(dx-dy)+y(dy-dx) =0, is
(a) x2+y2=;y+c
® x+y’=2xy+c
(© x2-y?=xy+c

@ =x2-y?=2xy+c

98. What is the minimum value of 3 cos (A+§)

99.
where Ac R?
(a) -3
® -1
@© 0
d 3
KJU-S-TMS (31-A)

Consider the following statements :

1. The function fix) = In x increasés in the
interval (0, o).

2. The function fix) = tan x increases in the

o T =n
interval (——2-, 3 J

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢ Both1land?2

(d) Neither 1 nor2

- Which one of the following is correct in respect

of the graph of y = ?

x-1

(@ The domain is (xe R |x # 1} and the
range is the set of reals.

(b) The domain is {x € R|x # 1]}, the range is
{y € R|y # 0} and the graph intersects
y-axis at (0, -1).

(¢) The domain is the set of reals and the
range is the singleton set {0).

(d) The domain is {x € R|x # 1} and the
range is the set of points on the y-axis.

What is the solution of the differential
equation In [g) =x?

(a) y=e*+c
(b) y=eZX4+e¢
© y=lnx+c

d y=2inx+ec
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100. 7 R s Tk amaa ) ward L 3t e b|108. IR PAUB)= 2, PANB)= L 3k
TFREFF I+ b=k & | 3Ad &1 Afrwaw 1 e 5
ol Ptnot A) = 1 9, 7 Freafrem & whan v

|I%A T8 ? -
(a) 2k? e
) k2 (a) P(B)= .g.
© % () P(A N B) = P(A)P(B)
i (¢ P(AUB)>P(A)+P(B)
e (@ P(not A 3 not B) = P(not A) P(not B)

101. G&TH 4 3 9 A WA W x AN 104. n 38 % 2.5 A Y Ryt w1 W 50
x-DE | IR 7w TR AT 67, N x| 21 Yzolt % I wgwE ¥ 35 ¥ AN M

w2 2 ferarer=i T ATHA -50% | nHIHA TR ?
(a) 2 @ 50 '
B (c) 80
d 5
(d 100

'1oé.aﬁ?ﬂ?qﬁaﬁsasﬁm§ﬁmm%% :
ﬁﬁﬁﬁﬂ‘fﬁﬁmmmmmqﬁm&nwa‘@mm(“W)W“‘W-

A, & @ W@ N w1 TREA 2 oM 2, Faf% 2n JEV ¥ UH A (qW) st

TP W &1 6 AT ? UgEY 61 WS M ® | Ggw ileel ug
® (a) M
5

e (b) %
1

) 2 (c) %
5

@ 5 e A
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100. Let ! be the length and b be the breadth of a|108.

rectangle such that /[+b=k. What is the

maximum area of the rectangle ?
(a) 2k?
b k2
k2
(c) T
i
(d) o

101. The numbers 4 and 9 have frequencies x and
(x - 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(@ 2
(b) 3
() 4
d 5

102. If three dice are rolled under the condition

that no two dice show the same face, then 105.

what is the probability that one of the faces is
having the number 6 ?

(a)

| en

(b)

©w|on

(c)

GV

Slen wim

KJU-S-TMS (33-A)

104.

If FAUB)= g, P(ANB)= % and
P(not A) - % » then which one of the following

is not correct ?

(a) PB)=

ol

(b) P(AN B) = PA)P(EB)
© PAUB)> P(4) + P(B)

(d) P(not A and not B) = P(not A) P(not B)

The sum of deviations of n number of
observations measured from 2-5 is 50. The
sum of deviations of the same set of
observations measured from 3-5 is - 50, What
is the value of n ?

(a) 50
(b) 60
(€ 80

S @ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

(a) M

3M
s

(e —

d —
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st @i (03) T & forg g :

Aerfifaa Fsrt # 9T IR I AT T F

108.

KJU-S-TMS

Wﬁﬁﬂ.’:
e faenfeiat € wem
ifes o TR
10 - 20 8 10
20 — 30 11 2
30 - 40 30 38
40 - 50 26 15
50 — 60 15 10
60 - 70 10 6
106. shfiw fgm it 1w § Renffal H @en
e #1 i fre afaue # aAfteran ] 2
(a) 20-30
(b) 30-40
() 40-50
- (d) 50-60.
107. Fr=fifas wuEl w R Hifw

1. sifs fgm & ot w1 "gEs A,
| T 30-40% @ R |

2. iifees fagm & ot H wifeEm (HifgT),
Tforq 3 ST Y AT A FH R |

30 Al 8§ A RAEA T RE ?
(a) %ad 1

(b) *aA 2

© 132

d TN1LAE2

Wifes R o 7 % e fRa R 2
(a) 384
(b) 394
(c) 409

(d) 416

109.

110.

Ae)

=i -6, -5, —v4, -1, 1, J4, V5, /6
= U g TR ?

J2
b 2
242

da 4

(a)

ﬂﬁ%&hﬁfﬁamx%&m

¥ x; = 20, £x? = 200 3 n = 10§, 7 fo=wr
TOTh T R ? '

(a) 80
(b) 100
(c) 150

@ 200

111. 38 I 6 T R ® fF agesE g M

(34-A)

w afad (s af) ¥ wah # qfe doem
& 7 _ '

(a)

[« R

(b)

e

(e)

<l

d 1
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Directions for the following three (03) items : . e
Read the following information and answer the 109. What 1? the standard deviation of the
three items that follow : observations

-v6, -5, ~-v4,-1,1, V4, V6, V6 ?

Number of students

Marks R o

Physics Mathematics @) 5
10 - 20 8 10 =
20 - 30 11 21 ® 2
30 - 40 30 38
40 - 50 26 15 © 2V2
50 - 60 15 10 o
60 — 70 10 6

108. The difference between number of students :
under Physics and Mathematics is largest for 110. If Tx = 20, $x% =200 and n = 10 for an
X =20, Ixf = =

‘the interval
observed variable x, then what is the
(a) 20-30
coefficient of variation ?
(b) 30-40
() 40-50 (a) 80
(d 50-60 ®) 100
107. Consider the following statements : {c) 150
1. Modal value of the marks in Physics lies @ 200

in the interval 30 — 40.

2. Median of the marks in Physics is less
than that of marks in Mathematics.

Which of the above statements is/are correct ? 111. What is the probability that February of a

(a) 1lonly leap year selected at random, will have five
(b) 2only . Sundays ?
(c) Both1land?2 ‘ 1
(@  Neither 1 nor 2 ‘ @ <
108. What is tl'le mean of marks in Physics ? ‘) 1
(a) 384 ' 4
(b) 394 © %
(c) 409
@ 416 @ 1
KJU-S-TMS (35-A)
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112. 100 J&0iT HT THIE WL 40 § | WG |, T& I 115. 2 (2) qTE 3R A (2) iR F T wE
w5 o Jgw 53 W e @ ‘83 5§ fern & 3 Tw R o I} | 5@ W@ T

T o7 | W G AT =R 2
i & 5 3@ afify & 2 9o R 1 Tfd

() 897 ,
() 396 (a) %
@ 395 i
®
118. @ & 12 I 3 Rftwdt % fg o ufd i ol Gha
Ly B
T TR % fie 9 gu | 9 g IR 4
ﬁmﬁm;%amqaﬁasgaaﬁaﬁ it
2

Wi % 21 3R A ol waT & @
Prerferen § & Rrehl iR 22§ 2
@) 3T A FA-A-FA Rl w T g e
(b) I A Fae Th H & A I
(¢ I8 9 foelt = oft 7 5o s

@ S Y B G SICT 116.1ﬁ1omé@iﬁm1oﬁaﬁﬁ@aﬁﬁﬁﬁ
s a @ Ree P o § | 7@ Wi

114. T @& & 99 15 @l el (Reawl) W fir Fre e 21 Rt W sivrew T & 2
R 2 R @ 6 ol (@R) ¥ | wE =fE

15 Tl mgrell ¥ 4 AgESA g R | WM P

T & 6 g3 T Tt freh weh § 2 S e
@ X | ®
® o . © -135
6
(c) 91 s %
@ 3
KJU-S-TMS | (36-A)
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112,

113.

114,

KJU-S-TMS

The arithmetic mean of 100 observations is 40.
Later, it was found that an observation ‘53’
was wrongly read as ‘83°. What is the correct
arithmetic mean ?

(a) 398
(b) 397
(c) 396
d 395

A husband and wife appear in an intervew for

two vacancies for the same post. The

probain'lity of the husband’s selection is % and

that of the wife’s selection is é If the events

are independent, then the probability of which
11 :

one of the following is 35 ?

(a) At least one of them will be selected
(b)  Only one of them will be selected
(c) None of them will be selected

(d) Both of them will be selected

A dealer has a stock of 15 gold coins out of
which 6 are counterfeits. A person randomly
picks 4 of the 15 gold coins. What is the
probability that all the coins picked will be
counterfeits ?

0
91
i 1
91
2
91

15
91

(a)

(b)

(c)

d)

115.

1186.

(37-A)

A committee of 3 is to be formed from a group
of 2 boys and 2 girls. What is the probability
that the committee consists of 2 boys and
1girl ?

(a) g
(b) 71-
(c) -zi
@ %

In a lottery of 10 tickets numbered 1 to 10, two
tickets are drawn simultaneously. What is the
probability that both the tickets drawn have

prime numbers ?

(a) 113
(b) %
(c) %
@ %
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117.mmﬁXmYm:mmﬂﬂf 119. af2 A 3k Bﬁmﬁmﬁﬁ;f'&ﬁ&ﬁ,
ﬁﬁiﬁa@ﬁﬁﬂ?ﬁ(?ﬁ)aﬁﬂﬁ%?l% P(B):O'EWP(AHB)=0'43,H}WR
foa gon & f% X = 65, Y = 67, ox = 25, ol T R SR ;
oY=3-5_aﬂtr(x,Y)=o-s%|me% :

awerer (Fore) 1wt 7 R 2 1. P(AUB)=049.
2. P(B|A)=06.
Y=0176X-5
i i w2 AR 8 V2
b Y=112X-58 (a) a9 1
(b) HaAA 2
e Y=112X-5
© 1323t

@ Y=017X+58 (@ dN,IE2

118.@Watxmﬁwﬁﬁqaﬁuﬁﬁ 120, § T X, Y 3% Z w6 Rl ywR & ¥
n=103M p= 3 % w v v 1 < &, el ¥ ¥ 3 TER A T I (S
H R | 99 Y = 10 - X T=E! n 3R p % W ) $ Wi @ 0-02, 0-08 3 0-05
g W7 1 FFEV FE ¥ | ¥ W A n 3N # ) fa et A F A S 50% ¥

p % WA s § . XA 2, 30% ¥ Y &l ¥ 3R 20% ¥ Z
T ® | X ¥ wRO e ATl Sweas
@ 53 g & 2
9
5 (a) 5-9—
b 5, = o
(b) 25
g _
10, =
(c) 5 o 19
29
4
(d) 10, — \ 28
5 G
KJU-S-TMS ' (38-A)
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117. Let X and Y represent prices (in %) of a|119.
commodity in  Kolkata and Mumbai
respectively. It is given that X = 65 Y= 67,
ox = 2'5, oy = 3-5 and (X, Y) = 0-8. What is
the equation of regression of Y on X ?

(a) Y=0175X-5
) Y=112X-58
© Y=112X-5
d Y=017X+58
120.

118. Consider a random variable X which follows
Binomial distribution with parameters n = 10
and p = % Then Y = 10 - X follows Binomial
distribution with parameters n and p
respectively given by

1
5, =
(a) 5
2
5, —
b) 5
3
10, —
(c) 5
4
10, =
@ 1 E
KJU-S-TMS (39-A)

If A and B are two events such that P(A) = 0-6,
P(B) = 0-5 and P(A N B) = 0-4, then consider
the following statements :

1. P(AUB)=049.

2. P(B|A)=0s.
Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(c) Bothland?2

(d) Neither 1 nor 2

ThreecooksX,Yandeakeaspecial kind of
cake, and with respective probabilities 0-02,
0-08 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the
Pproportion of failures caused by X ?

9

(a) BN

10

(b) 29

19

(c) 29

28

d 29
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&= W & fore T
SPACE FOR ROUGH WORK
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FoX wH & foru wre
SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C. : KJU-S-TMS Test Booklet Series

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the

te places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer

Sheet ligble for rejection.

8. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark

on the Answer Sheet. In case you feel that there is more than one eorrect response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6. All items carry equal marks. ‘

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate. :

8. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THEREW]LLBEPENALTYFOBWBONGANSWERSMAR@DBYACANDIDATEINTBE
OBJECTIVE TYPE QUESTION PAPERS.

i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has b:;n given by the candidate, one-third of the marks assigned to that question will be ucted as

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
Y @ﬁﬂﬁaﬁmwgﬁm%w@mw% 1
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